
River
Adm

1/17 2/17

0
 

 1
0

 
 2

0
 

 3
0

 
 4

0
 

 5
0

 
 6

0
 

 7
0

  
  

  
8

0
  

  
  

9
0

  
  

 1
0

0
  

  
 1

1
0

  
  

 1
2

0
  

  
1

3
0

  
  

1
4

0
  

  
 1

5
0

 m
m

65cm x 185cm x 32cm

13

1214

15

10

1A

16

16

17

18

3

8

5

5

4

6

6

9

7

11

11

5

5

2A

1B

2B

x11

c3.

Ø 3x20

Ø 15x12 x32x28

a1 a3

x22

n1P10

L-250 x1

d2

Ø 6,3x10 x4

P11

x1L-250

b1

x14Ø 7x50

k1

x6

c11c12

x2Ø 3,5x13

o2

x1x1

o1

x1

x1

Ø 3x13

c15

x12

Ø 8x40 x4

h19

IIz7

30x30x30 x2

f5

x36Ø 8x32 Ø 8x50

f6

x4

a7

M6 / L=34 x4



3/17 4/17

a1

x10

42

31

f5

x10Ø 8x32

f5

x10Ø 8x32

a1

x10

a1

a1

f5

f5

a1

a1

f5

f5

a1

a1

f5

f5

a1

a1

f5

f5

a1

a1

f5

f5

1

a1

a1 f5
f5

a1

a1 f5
f5

a1

a1 f5
f5

a1

a1 f5
f5

a1

a1 f5
f5

2

a3

a7

f6

f6 1B

A1

a3

a7

f6

f6 B2

A2
a3

x2Ø 15x12

a3

x2Ø 15x12

a7

M6 / L=34 x2

a7

M6 / L=34 x2

a1

x40L=34

a1

x40L=34

x2Ø 8x50

f6

x2Ø 8x50

f6



6/175/17

7

8

5

6
a3

x10Ø 15x12

a1

x2
f5

x2Ø 8x32

a1

x2
f5

x4Ø 8x32

b1

4

9

6
11

280mm

a3

a3

x2Ø 15x12

a3

x2Ø 15x12
11

a1

a1

f5

f5

11

a1

a1

f5

f5

116

7

116

7

b1

x2Ø 7x50

b1

x2Ø 7x50

b1
6

7

0
28

mm

11

a3

a3

f5

f5

9 a3

a3

a3

a3

8

1

4

6

9

7

11
6



7/17 8/17

2110

9

a3

Ø 15x12

18

16

17

16

x10

a3

a3

a3

a3

2

1

8

4

6

9
7

5

55

8
5

h19

h19

Ø 8x40 x4

h19

x4

5

f5

f5

f5

f5

f5

f5

3

f5

x6Ø 8x32

11



9/17 10/17

1513

14 16

x6

IIc3.

Ø 3x20

k1

x6

a=b

3

n1

n1

n1

n1

n1

n1
n1

n1

n1

n1

n1

n1
n1

n1

n1

n1

n1

n1

n1

n1

k1

k1
k1

k1

a

b

x20

n1

f5

x2Ø 8x32

f5

13
14

f5

f5

x2Ø 8x32

a1

x4

10

f5

a1

a1

f5

a1

a1

b1

x6Ø 7x50



11/17 12/17

17 91

18

b1

x4Ø 7x50

b1

b1

14

13

12

a3

x4Ø 15x12

13

12

10

a3

a3

a3

a3

20

x3

IIc3.

Ø 3x20

a=b

x2

n1 a

b
n1

n1

15

12
14

15

12



P10

d2

d2

c15

IIz7

Ø 3x13

c15

x6
Ø 3x13

c15

x6

IIz7

30x30x30 x1

IIz7

30x30x30 x1

21 22

Ø 6,3x10

d2

x2
Ø 6,3x10

d2

x2

L-250 x1

P10

22

1

1

P11

d2

d2

c15

IIz7

L-250 x1

P11

13/17 14/17



+/-

:( :)

A=BA=B

24

21

3IIIc3.IIIc3.

10

10
BA

23

x2

c3.

Ø 3x20

15/17



16/17 17/17

26

27

x1

o1

o2

x1

c11c12

x2Ø 3,5x13

1

2

25


